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Q. 1 Attempt all multiple-choice questions (MCQ) Yo / 20M

1 Prerequisite for intermolecular hydrogen bonding is |

a Hydrogen attached to large highly electronegative atom

b Hydrogen attached to small hlghly electronegatlve atom

(o Hydrogen attached to small highly electropositive atom

d Hydrogen attached to large hlghly electropos;tive atom_"'

2 Which one of the followmg, is apphcable t0 non-steady state d1ffus10n’7

a de/dt=0 . ‘ ,

b dt/dc= constant bl

¢ de/dt #0 A t ;

d de/dx= constant 1A M '

3

a

b Normah.ty i

c Molarity

d Molahty

4 o s

: % 3

o ‘ﬂDecrease in surface area N

d ‘ "Increase 1n temperature ‘ b

Upper*consolute temperature ‘
Lower consolute temperature
_ Phase 1nvers10n temperature il

'Kraft qut “ &_-( _:«"" )
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Long range order
Random packmg
Lower entropy
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